SPECIAL EDUCATION PLACEMENTS 1999/2000

SCHOOL	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Tentative)	$\frac{\texttt{TOTAL}}{(\texttt{Estimated})}$
Allegro School Cedar Knolls, NJ	3 full time	Autistic	\$45,900.00	\$137.700.00
Banyan School North Caldwell, NJ	1 full time	Learning Disabled	\$20,059.00	\$20,059.00
Barnstable Academy Franklin Lakes, NJ	1 full time 1 full time	Emotionally Disturbed Learning Disabled	\$23,900.00 \$23,900.00	\$23,900.00 \$23,900.00
Bergen Center For Child Dev. Haworth, NJ	1 full time 1 full time	Multiply Disabled Cognitively Imp Moderate	\$25,675.00 \$25,675.00	\$25,675.00 \$25,675.00
Bleshman School (Bergen Co. Spec. Services) Paramus, NJ	2 full time	Multiply Disabled	\$34,203.00	\$68,406.00
Bloomfield Jr. High School Bloomfield, NJ	1 full time	Cognitively Imp Mild	\$11,000.00	\$11,000.00
Calais School Whippany, NJ	1 full time	Learning Disabled	\$23,040.00	\$23,040.00
Cerebral Palsy Center Belleville, NJ	1 full time	Preschool Handicapped	\$32,960.00	\$32,960.00
Cerebral Palsy Center Clifton, NJ	1 full time	Multiply Disabled (High School)	\$34,200.00	\$34,200.00
Cerebral Palsy Center Edison, NJ	2 full time	Multiply Disabled	\$43,650.00	\$87,300.00

SCHOOL	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Tentative)	TOTAL (Estimated)
Children's Center Cedar Knolls, NJ	2 full time	Multiply Disabled	\$30,500.00	\$61,000.00
Children's Institute Livingston, NJ	1 full time	Learning Disabled	\$29.880.00	\$29,880.00
Community High School Teaneck, NJ	1 full time 1 full time	Emotionally Disturbed Learning Disabled	\$29,368.00 \$29,368.00	\$29,368.00 \$29,368.00
Community Lower School Teaneck, NJ	1 full time	Learning Disabled	\$33,820.00	\$33,820.00
ECLC Chatham, NJ	1 full time 5 full time	Multiply Disabled Learning Disabled	\$23,310.00 \$23,310.00	\$23.310.00 \$116,550.00
ECLC Ho-Ho-Kus, NJ	1 full time	Learning Disabled	\$24,660.00	\$24,660.00
Essex High School Clifton, NJ	1 full time	Emotionally Disturbed	\$23,000.00	\$23,000.00
Essex Valley High School W. Caldwell, NJ	3 full time	Emotionally Disturbed	\$27,410.00	\$82,230.00
Fort Lee Educational Center (Youth Consultation Services)	1 full time	Emotionally Disturbed	State Assigned	
Godwin School Midland Park, NJ	1 full time	Auditorily Handicapped	\$36,394.00	\$36,394.00
Holmstead School Ridgewood, NJ	2 full time	Emotionally Disturbed	\$27,082.00	\$54,164.00

SCHOOL	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Tentative)	TOTAL (Estimated)
J.F. Kennedy School Newark, NJ	1 full time	Multiply Disabled	To be determin	ned
Midland School North Branch, NJ	1 full time	Autistic	\$23,400.00	\$23,400.00
Sage Day School Rochelle Park, NJ	1 full time	Emotionally Disturbed	\$28,500.00	\$28,500.00
V. Sawtelle Learning Center Montclair, NJ (Youth Consultation Services)	1 full time	Autistic	\$32,645.00	\$32,645.00
Search Program Ocean, NJ	1 full time	Autistic	\$33,000.00	\$33,000.00
Shaler Academy (Ridgefield Bd. of Ed.) Ridgefield, NJ	3 full time 2 full time	Autistic Preschool Handicapped	\$32,403.00 \$32,403.00	\$97,209.00 \$64,806.00
Windsor High School Morristown, NJ	1 full time	Emotionally Disturbed	\$30,341.00	\$30,341.00
·				

RESIDENTIAL PLACEMENTS

Touchstone Hall 1 full time Unclassified State assigned (Bergen Co. Special Services)

ESSEX COUNTY VOCATIONAL SCHOOL PLACEMENTS 1999-2000 SCHEDULE

SPECIAL EDUCATION PLACEMENTS

SCHOOL	NO. OF STUDENTS ATTENDING	CLASSIFICATION	TUITION PER STUDENT (Tentative)	TOTAL (Estimated)
Essex County Voc. School W. Caldwell, NJ	18 part time	Specific Learning Dis.	\$3,150.00	\$56,700.00
REGULAR EDUCATION PLACEMENTS			•	
Essex County Voc. School W. Caldwell, NJ	1 part time		\$ 850.00	\$ 850.00
Essex County Voc. School	1 full time		\$1,700.00	\$1,700.00
Rloomfield NT				

Dated:

August 30, 1999